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10.
11.
12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 100 objective type questions. Each question

will carry two marks. All questions of Paper II will be compulsory.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(€23) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to missing pages/questions
or questions repeated or not in serial order or any
other discrepancy should not be accepted and correct
booklet should be obtained from the invigilator within
the period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given. The same may please be noted.

(it1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.

There is no negative marking for incorrect answers.
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Geography
Paper 11

e
gyutsent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT : I YEAUhG THU WiER (100) SgHAE WA foonl oTRd. Toe RN | (2)
O STRd. WE WA e

1. Which one of the following is the | 1. wETclicTush! SHIvAT Tk RGeS o=
evidence of seafloor spreading ? e 3 ?
(A) Palaeomagnetism (Magnetic (A) :
U schcd

Anomalies) ®) - -

(B) Drifting of Continents ) .
(C) Upwelling of magma from the (C) TeF HEAERRI T I@IW@W

Mid-oceanic ridges (D) YUg/Ydeieh™ o
(D) Movement of the plates 2. IR IE AR 1 Fr=1 Siredl Jegell 3o
2.  Match List I with List II and select ETelle Hehareeigd arg vag faer
the correct answer from the codes et I (T WehTo)
given below : (@) Tafes giew il
List I (Force Types) qi@m
(a) Horizontal forces 7 A e
(b) Epeirogenetic forces © firt 1=
(c) Catastrophic forces d) et
(d) Exogenetic forces Tt 1 (WW)
List II (Characteristics) (1) SedTHT grerse
(1) Vertical movements (2) wEEd e
(2) Tangential movements (3) fommRrt afwam
(3) Destructional process (4) vy gemEret
(4) Sudden movements Hehdieh :

Codes :
(@ ®) © (@@
A 2 @ @O O

(@ @) (© @@
Aa @ @ @O G

B 2 1 @ O B 2 O @ O
<o D @ 6 @ o D @ 6 @
D 3 1 @ @ M & 1 @ @
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In the chemical weathering process,
the general order of mineral stability
is provided by :

(1) Goldich dissolution series

(2) Penk’s dissolution series

(3) Bowen’s reaction series

(4) Holme’s reaction series

(A) (1) and (2)

(B) (3) and (4)

(C) (1) and (3)

(D) (2) and (4)

Assertion (A) : Rejuvenation
accelerates the erosive power of the
rivers.

Reason (R) : Rejuvenation shortens
the cycle of erosion.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
‘Sag pond’ is related to ............
(A) Active strike slip
(B) Meandering river

(C) Coastal process
(D) Deflation hollow
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B) 3 T4
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In arid environment ........... is formed

because of slower slope movements.
(A) Debris flow

(B) Talus

(C) Solifluction

(D) Sludging

Arrange the ‘slope segments’ from

lower to higher level :
(1) Waxing slope

(2) Constant slope

(3) Free face

(4) Wanning slope

A) @), (2), (3), (1)

B) (2), (3), (4), (1)

©) @), (3), (2), (D

D) 4), 2), (1), (3)

When large volume of pyroclastic

material mixes with rainwater and

snowmelt water causes .............
(A) Avalanche

(B) Debris flow

(C) Lahar

(D) Earth flow
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3T5eh Qe SANERIel He Blelaei 1

......... e
(A) I HarE

B) g9

(C) fewmt 7a1 yaEm

(D) TR

AR TS Wed d a1 TIaas gl %A
oArdr

(1) dmedl 3dR

(2) THARE 3dX
(3) HKIS

(4) e&mt AR

A) 4), (2), 3), (1)
B) (2), (3), 4), (1)
(C) (4), (3), (2), (1)
D) @), (2), (1), (3)

Sieg] HiddT THIUT e Thievehall dgieiia

qeETe 9 fadsae T faged dear

(A) a9
B) S YaE
(C) w=t

(D) =1 JaIE
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Nappe is formed due to .......... of the

following.

(1) Thrust faulting
(2) Recumbent folding
(3) Jointing

(A) Only (1)

(B) Only (2)

(C) Only (1) and (2)
(D) Only (1) and (3)

The main chemical compounds,

other than water, in acid rain

(A) Hydrochloric acid and sulphuric
acid

(B) Nitric acid and sulphuric acid

(C) Nitric acid and hydrochloric
acid

(D) Nitric acid, hydrochloric acid

and sulphuric acid

10.
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The annal range of temperature is

calculated as .............

(A) Difference between annual
maximum and annual
minimum temperatures in the

last 100 years

(B) Difference between warmest
and coldest monthly means of

temperature in a year

(C) Difference between daily
maximum and daily minimum

temperatures in a year

(D) Difference between average
maximum and average
minimum temperatures in last

30 years

The layer(s) of the atmosphere,

known as Appleton layer, is/are

(A) D-layer
(B) E-layer
(C) F2-layer
(D) G-layer

11.

12.
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13. Match List I with List IT and select
the correct answer from the codes

given below :
List I (Winds Category)

14.

(@)
®)
(c)
(d)

(1)
2)
3)
4)

Microscale winds
Mesoscale winds
Synoptic scale winds
Planetary scale winds
List II (Examples)
Santa Ana

Hurricane

Westerlies

Dust devils

Codes :

(A)
(B)
©)
D)

(@ (b)) (© (@
4 @O @ @3
4 @ @O @
1 @ @ 3
2 B @ @

Which of the following statement(s)
is/are not true about the
atmosphere ?

(1
)

3)

4)

(A)
B)
()
D)

Atmosphere is a very shallow
layer of the earth

More than 99% of the
atmosphere is within 30 km of
Earth’s surface

More than 99% of the
atmosphere is within 80 km of
Earth’s surface

It protects us from the
dangerous radiation emitted by
the sun

(1) and (2)
(2) and (3)
only (2)
only (3)

13.

14.

GET IT ON
Google Play

APR - 36224/11—A

A-1 9 FRl- 11 A= S el
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(@) 9G&A FHT 9N

(b) T FHM aR

(c) fafyreepifas an

(d) TEE YA TR
A I (SETET)

(1) ¥ 37

(2) @R

(3) ufy=Hr aR

(4) 9d @R

Hehdlich :
(@ B @ (@

Aa @ @O @@ 3

B @ 2 @O 3

oGO @ @@ 3

D 2 B @ @

TSRO Weteren! shivrd faem B

IR ?

(1) ST B Y= EU 39 W 3R

(2) 99% TN W& TERY § L=
TR 30 TR =™
3T

(3) 99% Ta SR FMIERY T Y=
TSRS 80 fordt. e
S
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RO STATael ST9e! TET0 S
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B) (2) o (3)

(C) ®ed (2)
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16.

If temperature of a particular place
was 32°C, what would be its
equivalent temperature in degree

Fahrenheit ?
(A) 96.9
B) 89.6
(C) 99.6
(D) 86.7

Assertion (A) All objects

continually emit radiant energy over
a range of wavelengths.

Reason (R) : Hotter objects radiate
more energy in the form long-

wavelength radiation.

Which on of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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15. <R T fafyre femmom aqam 32 feuit

Tfeqay 3/ 8, T feill Bigreasd @

HAAT 99 fohdl T8 ?

(A) 96.9
B) 89.6
(C) 99.6

(D) 86.7

16. f@eam (A) : ¥& 929 ® A TR

TUETATSAT A TR Seig Sodsiq

EZGIGE

HRUT (R) : 307 9519 ® I8 oAed=A

WO S S 9id shidm.
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(D) (A) T 3¢ g (R) T =R T
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............ cloud develop along the cold

front in an extra tropical cyclone.

(A) Altocumulus

(B) Cumulo nimbus

(C) Cumulus clouds

(D) Nimbo stratus

Which of the following indices is not

developed by Thornthwaite to

determine boundries of different

climatic types ?

(A) Moisture Index

(B) Thermal efficiency index

(C) Aridity and Humidity Index

(D) Evaporation Index

Match List I with List IT and select

the correct pair from the codes given

below :

List I (Scientific Terms)

(@) Haloclines

(b) Isohyets

(¢) Pycnoclines

(d) Isohalines

List II (Meanings)

A line connect equal salinity in

the ocean.

A line for sharp salinity

gradients in the water column

of the oceans.

A line for density gradient with

depth in the oceans.

A line for places of equal

rainfall over a certain period.

Codes :
(@)

(A) (2)

(B) (2)

) 3

D) @)

(1
)

3
4)

(d)
3)
(1)
(1)
(1)

®)
(4)
4)
(4)
3)

(c)
(1)
3)
(2)
4)

17.

18.

19.
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eI qIoaT=al SAd=] Sai
Tufferomd Yo
= IS HHH TS
Yoy I
Hehdih :

(@)
(A) (2)
B) @)
< 3
D) 2)

ooooooooooooooo

(@)
)
)
(d)

(1
2)

3)

4)

®)
(4)
4)
(4)
3)

(c)
(1)
3)
(2)
4)

(d)
3)
(1)
(1)
(1)
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20. During the glacial period, the earth’s | 20. fgHgERIT=E Jeate &a™ amiAl
crust sinks due to the additional SAfaRE S Hes T=d I\ 3
weight of ice is called as ............ FUTAT.

(A) Thermal expansion of seawater (A) 9rl e efiftores foeamo
(B) Isostatic change B) IR T8E

(C) Interglaciation (C) #ATRfEArT I

(D) Eustatic changes (D) 3ftass WTR Udes S

21. Which of the following pairs are not o1. wiEeis ved-sigd fafddren

correctly matched as per the theories
. _ fHgraHeet el el sie) A= ?
of the origin of tides ?
(1) Progressive wave theory : (1) wHE o fagra ;o faem =9
William Whewell
(2) HHd Hg @ W el A
(2) Equilibrium theory : Sir Isaac
Newton (3) =@ w0 fagra : emT RE
(3) Stationary wave theory : R.A. 4) T R .S @
Harris
(4) Dynamical Theory : G.B. Airy A @, 3 @
(A) (1), (3) and (4) B) w= (4)
(B) Only (4)
(C) ®=a (3)
(C) Only (3)
(D) (3) and (4) (D) 3 @
11 [P.T.O.
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Which of the following ocean
currents is not responsible for desert

formation ?

(A) Benguela current

(B) Humboldt current

(C) West Australia current
(D) Agulhas current

Who stated that “Geography is

related to the study of
interconnections among phenomena
of diverse origins existing together
in harmonious relationship in
particular segments (places/regions)

of the Earth surface”.
(A) Malte-Brun

(B) Humboldt

(C) Ritter

(D) Hartshorne

22.

23.

GET IT ON
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24. Correct ascending order of relative
contribution of various greenhouse

gases to total global warming is :
(1) Carbon dioxide
(2)
3)
(4)

(A)

Methane
Nitrous oxide
CFCs

(D), (2), (3), 4)
4), (3), (1), (2)
(D), (3), (4), (2)
3), (4), (2), (1)

B)
(®)
(D)

25, is a comprehensive document
of International treaty, in which the
following agenda were covered—Aid
fund, poverty eradication,
sustainable agriculture and rural
development, forest conservation,

biodiversity etc.

(A) Kyoto Protocol
(B) Agenda 21

(C) Paris Agreement

(D) Brundtland Commission

24.

25.
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TR SR AoAeees fofad siaTe
AT A& FRETET F@dl HH

..........

(D), (2), (3), 4)
4), 3), (1), (2)
(1), 3), (4), (2)
3), (4), (2), (1)

TEgHET TEuas R, R smed

Eleilel foog gaTfase sogrd 3T
Bld—med Freft, TRelt e, smeea it
g U foeRrd, sREeE, Sefafasr
TR

(A) &I GIEenld

B) @wEr 21

(C) U™ =R

(D) §Scie HiHH
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............. process occurs in climates
where evapotranspiration exceeds
precipitation.
(A) Podzolization
(B) Laterization
(C) Calcification
(D) Glaciation
Which of the following is the largest
ecosystem on the earth ?
(A) Anthropogenic ecosystem
(B) Grassland ecosystem
(C) Terrestrial ecosystem
(D) Marine ecosystem
Match List I with List IT and select
the correct answer from the codes
given below :
List I (Types)

(@) Herbivorous
(b) Carnivorous
(¢) Omnivorous
(d) Decomposers

List II (Animals)
(1) Penguin
(2) Rat
(3) Hippopotamus
(4) Earthworms
Codes :

(@ ®) (@ ()
A @ @ 6 @
B @2 & 1 @
e 68 1O @ @
D & 1 2 @

27.

28.

GET IT ON
Google Play

APR - 36224/11—A

TS9N STSacds Sied 3T
(A) TTSHARMEAIA
(B) T
(C) =it
(D) TAfg3eH
WeAerten] qeaieriel Fatd Hidl afEea
FIORT MY ?
(A) e afteeen
(B) oles WR¥T UREw
(C) g afee
(D) WFSE g
AE-1 o FARI-11 e Sedl e
Eea Hehdiehrgd Arg gag feer

et 1 (TRt
(@) TTHRTERI
(b) wEEN
(c) THHRW
(d) feeresh

et I (9Tt
(1) Tftem
(2) WR
(3) TUTUTEET
4) Tz
Hehdleh :

(@ ®) ©© (@

A @O @ B @
B 2 & O @
© 3 @O @ 2
D 3 @O @ @
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29. Find out the correct sentence of the | 29 Wil FHiva faum™ FE YIEH
following, regarding the agreement FEE SR e ?
of Kyoto Protocol propose ........... .
(A) FEA-SEsfiFEed IsT 30%
(A) To reduce 30% emission of
. HAT HL
carbon dioxide
(B) To reduce 18 to 20% emission (B) FARILURTS= Scdsi 18  20%
of CFC HHl HL0]
(C) To reduce 2 to 8.5% emission of (C) T 39 2 d 8.5% T FHI0
carbon . .
(D) HEAE I&sH 0.2 § 6.25% HHI
(D) To reduce 0.2 to 6.25% emission
EZU
of carbon
30. Which of the following statements 30. Trefierent HIowd faeTT FHH et
is correct about synthetic fertilizers ? TS TS 7
(a) These fertilizers concentrate the (@) B T T T e STaE
essential nutrients in the ) =
moderate layer of the soil. SRS el
(b) These fertilizers concentrate the (b) & T AT=AT ST THE AT
essential nutrients in layer of ICE el B 3G TR Z Sl
top soil. N
) & T TOURY &l aead
(¢c) It increases water holding
capacity Iy T e
Find out the correct option : (A) T (a)
A 1
(A) Only (a) B) wH (b)
(B) Only (b)
(C) %= (a) &AM (c)
(C) Only (a) and (c)
D) (a), ®) and (c) D) (a), (b) T (c)
15 [P.T.O.
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31.

32.

e

Which of the following options is best
defined as plant and animal
community that covers a large

area ?

(A) Biome

(B) Biosphere
(C) Biodiversity
(D) Ecology

Arrange total net productivity of
major world biomass in decending
order :

(A) Forest — Open ocean — Grass-

land — Cultivated land

(B) Open ocean — Forest —

Cultivated land — Grassland

(C) Cultivated land — Grassland —

Open ocean — Forest

(D) Grassland — Cultivated land —

Forest — Open ocean

31.

32.

GET IT ON
Google Play

APR - 36224/11—A

WA ST T S0 I
ST HTOTt THGTH SToeea Hied &6
wRenfo & ?

(A) =maH,

(B) SfemeRm

(C) Srafafasm

(D) TffEereht

YHE WMfae SaeegAmTE fHege

ScUTeehd] Saicdl HHMY HISUT &4 :

(A) & — Gl TR — Tedies Fa¥l

o fa fay
— AT SEledled STHTH

B) TAT  HABIHIT EE|

AT T STHH — el ey

(C) TMESEnee STHH — 7ol 9oyl

— el WEERR — &

(D) TS YS9 — ANTES [Eelel STHIA

— 1 — el HEMR
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33.

34.

e

What is the meaning of inter-
generational equity as an aspect of

sustainable development ?

(A) Minimise any adverse impact
on resources and environment
for future generation

(B) Minimise the wealth gaps

within and between the nations

during the developmental
process

(C) Safe, healthy and resourceful

environment to our present

generation

(D) Develop carrying capacity of the

environment to achieve equity

Rank the following Union Territories
in ascending order by population

density in 2011 census :

(@) NCT of Delhi

(b) Dadra and Nagar Haveli

(¢) Chandigarh

(d) Andaman and Nicobar Islands

Codes :

A © b @
B) ® © (@
© @ b ©© (@
D) (@ © &)

33.

34.

GET IT ON
Google Play

APR - 36224/11—A

oL

STYerd fashrr=ar gfteshianga STaifuer

THa=1 @ o1 e ?

(A) wrat
et Hfdeher IfomA s
i

(B) forenrr=a WihacTHM SRaHa 71T
S TS TR STa FHHT 0]

(C) Tear= Turard! Hafard, STRFaRR
9 WY 9EER

(D) TATIOT= HROT & oo hed

T T Y0

2011 =TT FAMUHAEH dAlhEsa=dl
TR TelTel e eI Feeme! Fee
FHN HARR @Gl

(@) T=HE 99 Hov oo
(b) TEU A0 TR gael!

fodigrsl |ieaguer 4

(c) ==ITE

(d) SEHM S FRrem
Hahdieh :

A © b)) (@ (@@
B) & © (@ @
© @ b)) © (@
D) (@ @ b)) @
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35. Match List I with List IT and select
the correct answer from the codes

given below :
List I (Types of Migration)
(@) Chain Migration
(b) Forced Migration
(¢c) Step Migration
(d) Seasonal Migration
List II (Descriptions)

(z) Persons displaced by war,

conflicts or natural disasters

(z1)) Sequential movement from

rural to urban areas in stage

(zi1) Persons seeking work each year
for a short time in a place other

than their residence

(iv) Individuals follow others who

have previously migrated
Codes :

@ ® © @
A) Gv) GiD) G) @)
B) ) G G Gii)
©) @) @) G
D) Gi) Gv) Gii) G)

(itd)

GET IT ON
Google Play

APR - 36224/11—A

35. @l 1 a7for It 11 wefte Sresn sesen

3 feoien Wahaieiqa oTee 941

EEIE
A I (AT ThR)
(@) HEE TAATH
(b) SRS T
(¢) TOARTAE TN
(d) H T
It I (JUi9)
G) I§ T fRar J@fife smoige
foenfia gmetelt =oerit

(i7) UTHIOT YR W@ AT SO
BN HHE reT=e

(iti) Y 991 A=A feTaeemEataisd
T TOION IS IS

NSO Tt

(iv) Tt T Sreiedrd ST
HLOM il

Hahdich :

(@ B @ (@
A) (@v) @) @) @)
B) @ @) @) G
©) () @ @)
D) @ Gv) @) @

(i)
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36. In Christaller’s model, the hierarchy | 36. fE=eRr Ffaamme, Gelayd™ S0 &R
levels are : IMed
(1) K3—Market Principle (1) K3—sNRuU3g a<d
(2) K4—Transport Principle (2) K4—dT6deh dd
(3) K7—Administrative Principle (3) K7—U¥MHhd a7
(4) K9—Industrial Principle (4) Ko—si=fe T
Find out the correct combination of I ST T Tl HehdehTJaR
answer according to the code : e
(A) (1), (2) and (3) A) (D), (2) 9 3)

B) (2), (3) and (4) B) (2), 3) 9 4)
(C) (1), (3) and (4) C) 1), B) a4
D) (1), (2) and (4) D) (1), (2) 9 4)

37. Assertion (A) : Class I Cities in | 37. faam™ (A) ; WAl o1 I 9L ofeM 3o
India have grown faster than small T YR AT AR Sl e
and medium towns.

Reason (R) : Due to change in the T (R) : FTE AT AE T

definition of urban area. '%“C"'“ﬁog EEAE Gl IR

Codes : Hehdleh :

B I the vorret explonatin | ) 0 TN 2
of (A) R) T (A) = oTg= favemm o

(B) Both (A) and (R) are true and (B) (A) 311 (R) St & e 3TTe amfur
(R) is | not the correct R) ¥ (A) ¥ o/ Fvemm
explanation of (A)

(C) (A) is true but (R) is false (C) (A) TR o RY (R) ¥ F oM

(D) (A) is false but (R) is true (D) (A) I 38 R (R) ¥ TR 3R
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38.

39.

40.

e

Who

propounded the concept of rural-

among the following

urban fringe ?

(A) Pryor, R.J.

(B) Pahl R.

(C) Homer Hoyt

(D) Jean Gottman

What is ‘Demographic Divident’ ?

(A) Increase in 0 to 5 age group
population

(B) Increase in 6 to 15 age group
population

(C) Increase in 15 to 64 age group
population

(D) Increase in 65+ year population

Which of the following factors are

taken into account when computing

the Human Poverty Index (HPI) ?

(A) Life expectancy, education and
income inequality

(B) Gross Domestic Product (GDP)
and unemployment rate

(C) Access to clean water and

sanitation facilities

(D) Infant mortality rate and

literacy rate

38.

39.

40.

GET IT ON
Google Play

APR - 36224/T11—A
YTHOT AR ERHU &1F B Heheu
WIATAdeh! o Aead! 2
(A) TER ST
(B) Y8 &AR.
(C) TR Fae
(D) M A
AFEEAERE AR RO wE 2
(A) 0 d 5 TANEME ARged 9@
B) 6 1 15 FAMER whHEdd 918

(C) 15 § 64 IITEETA lhgEdd

die

(D) 65 7 3AfHeh TANERIA dlhEed
e

Wefieieh! A ¥2dh © HA-TIE
vt Mor A fommd S

S| ?

(A) 3gHA, e 9 3= STEHE

(B) ®M&e TUH! IR o SRS &L

(C) Tor=s Uil o Tl gfawn A=

AN ST

(D) e Hedar g i WieRar €1
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41. Which one of the following possess | 41, wreiieri! HUTHS Hewar= HAET Tal

dual recording system of vital S U= o 2
events ?

(A) SO
(A) Census

(B) UM FHed AT HA&T
(B) National Family Health Survey

(C) o1 Figuft gomed!
(C) Sample Registration System

(D) TS THAT A
(D) National Sample Survey

42. Information pertaining to which | 42. WA=l SUMHE @At T

among the following is not provided
Aifed! UM ehelell @l 2

by the population in census of

India ? (A) ThTEA TerdEl &

(A) Trends in population growth

(B) =I-faT = a s&d
(B) Changes in age-sex structure

(C) Pattern of migration and (C) TRAG ST YELhLOMT SR aeY

urbanization

(D) faarga siewr= Hza farm
(D) Family planning practice of

married couples ERIE

21 [P.T.O.
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43.

Match List I with List II and select
the correct answer from the codes

given below :

List I (Models of Urban
Land Use)

(@) Burgess Model

(b) Harris and Ullman model

(¢) Hoyt Model

(d) Exploitative model

List II (Characteristics)

(z) Multiple nuclei with specialized

functions

(i1) Circular zones with distinct land

uses

(i) Irregular patterns based on

transportation routes

(tv) Explain the structure and
function of any town or city
based on ownership of resources

and to pay
Codes :

(@ ®) @ ()
A) Gv) @& @) @)
B) & @G G (o)
©) @ @& @) (o)
D) @) @) @) ()

GET IT ON
Google Play

APR - 36224/11—A

43. FRT 1 At At 11 Aefle ST S
O e foeie™ Fehdiehlad ST ais
IREEINE:

Tt I (It g SudeE fagia)
(@ =g faga
b) T ofn e fagma
(c) wae fagm
d) v fagE
RIEUR | UMEIRES))
() fo@9 wage o\ % Hss

(i) ST Y STATSMET IR
E|

(i) =Teqeh AOT=A HER  AfTEtHa
SR

(iv) TETEATAT Hiferht Safor T vt

T I SMYRER ShivcTal e
AT 3N E T RIS

Hendich :

(@ () (@ (@
A) Gv) @ Gw) @)
B) @ @) @) @)
© @ @ @) ()
D) @) @ @ @)
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44. Regional variations in agricultural | 44. T SCIGHIAT WSTITEh FEATER WA
productivity can be influenced et g Ug viRdl
By ceveeeins ,
(A) TrRfae fafawmm
(A) Cultural diversity
(B) srfefw fooman
(B) Economic disparities
(C) Political boundaries © s
(D) Climate and topography (D) AWM S0 TS T
45. Which one of the following is | 45. @ g ASEHE WElcTdeh! hIval
considered as the catalytic factor in IAEH TTF HEA Sl 7
Von Thunen’s Model ?
(A) 9N
(A) Market
(B) dEq® T
(B) Transport Cost
(C) Urban Centre (C) ¥l 3
(D) Concentric zones (D) &g g, &t
46. ..o is the diminishing marginal | 46. BT T B SO FIHid qReren
returns to scale that occur when a ST, SiegT TEIST SE =AM STeaHo
firm becomes too large to manage i SHeEfid v S e
and operate efficiently. A ST S W
(A) Economies of the scale (A) m foydera @y
(B) Diseconomies of scale (B) smfig =R oy
(C) Disintegration of scale (C) fawfsa =mw
(D) Diminishing scale (D) |THAM 4
23 [P.T.O.
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47.

48.

49.

e

When there is prolonged period of
inadequate rainfall with uneven

distribution, such situation is known

(A) Agricultural Drought
(B) Hydrological Drought
(C) Meteorological Drought
(D) Socio-economic Drought

Which of the following costs incurred
in the process of moving and which
are made up principally of fuel costs

and wages ?

(A) Overhead costs
(B) Line-haul costs
(C) Transfer costs

(D) Network costs

Which mode of transport is having
high terminal costs as compared to

other mode of transport ?
(A) Marine ports

(B) Rail

(C) Roadways

(D) Bus stand

47.

48.

49.

GET IT ON
Google Play

APR - 36224/11—A

STeg] STHAM fadqunee STg=a qsi=Hrr=n
el At sTH, weRT e aRifeudten
39 WUA e .

(A) Tt TohTcs
(B) Seid Tl

(C) BAMHMHS, TR

(D) HHAIRSTh- TR goehios

STEq el Ufshar eferdeh! Shiord]
Td S EAd 399 @9 S HejiE
STl T ?

(A) @

(B) FEEn T=

(C) TR T
(D) Feo T
I UREeT TGl HAA B g

ARqR = qard STed 8Tg ?
(A) | sl

B) I

(C) =M

(D) =9 o
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50. Which of the following sentences are
correct with respect to international
trade ?

(1) Volume of trade is amount of

trade in monetary terms.

(2)

Composition of trade is type of

goods and services in

international trade.

(3) Direction of trade is trade of

country with other countries or
trade blocks.

(4) International trade does not
fulfill surplus and deficit
supply of

commodities in world

Codes :

demand and

(A) Statement (1), (2), (3) are correct
(B) Statement (2), (3), (4) are correct
(C) Statement (1), (2), (4) are correct
(D) Statement (1) and (4) are correct

GET IT ON
Google Play

APR - 36224/11—A

50. STARSE SIREE I Teierish! v

faum sey/amg R ?
(1)

SATIIRIE  SATHIATT & AT

FeHaSHE FHU 2T

SRS ST =% ST T
T B
=T o9 =S I9mE gAY

SYTEeT fohal SR seifeheriieii
O B

AT AR S ST
Aol ST qReeT o SRy efir
Te Rl +Iq A

Hehdich :

(A) faum (1), (2), (3) & T 3R

(B) fa8m (2), (3), (4) & ==X 318

(C) faam (1), (2), (4) T TE AR

(D) faum (1) o7 (4) & s 3R

2)

3)

4)

51. As per Von Thunen, terrain which | 51. =M I ATA, S YJ53 § 3o, g,
is completely uniform in respect to AT 3T X ATh{aeh Sehemedid sk
relief soil, climate and all other THTHH ST I/ 31 U,
physical conditions are called as : N m

(A) AFHRELR o34
(A) Isostatic surfaces 5
(B) Isotropic surfaces (B) STRTE JoT
(C) Isometric surfaces (C) SRFEMEE: o34
(D) Isolectic surfaces (D) HAHHIARTSR TS
25 [P.T.O.
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52. Which of the following farming
practice aims to grow grasses in
rotation with the field crops, which
helps in building up the structure
of soil, preventing soil erosion and
improving its fertility ?

(A) Basin listing

(B) Contour terracing
(C) Hey farming

(D) Strip cropping

53. Who wrote book titled as ‘Land of

Britain : Its Use and Misuse’ ?
(A) M. Shafi

(B) D.M. Smith

(C) L.D. Stamp

(D) A. Coppock

54.

is a good technique for the
delineation of land capability

regions.

(A) The potential land unit

(B) The production unit

(C) The potential production unit

(D) The perfect production unit

52.

53.

54.

GET IT ON
Google Play

APR - 36224/T11—A
TR v Tt Hishad 3fese
ST fUeREEd e Tad areau
e, 9 Hger= fAfHdEdt, gar ogu
afoT = guiehdl GURuAE
AT HAA ?
(A) I T
(B) wH=A H{ Tl
(C) =M 2wt
(D) e gl
‘U A fored : 52l IS fve TS’
I UAE T FHIU Hel AT ?
(A) TH. I
(B) siua. fEmy

(C) TAEl. EH

(D) W hidlh

oooooooooooooo
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55.

56.

According to Friedmann’s centro-
periphery model which of the

following sentences is correct :

(A) This model proposes that it is
the circular causation that
results in either downward or

upward spiral effect

(B) Development is determined by
the nature of relationship
between the developed core and
the underdeveloped periphery

(C) The development of subsidiary

capitalist metropolis exist as

satellite city status

(D) Model is highlights the role of

spread effect rather than

backwash effect

It is the existence of ........... forces

that make an area a region.
(A) Centripetal

(B) Centrifugal

(C) Natural

(D) Regional

55.

56.

GET IT ON
Google Play

APR - 36224/11—A

He HI- IR HiSe ' TR Welietisht

FHIUd T e 3 ?

(A) % forermg Aieet 318 wiqued id &1

Tl SRS Tehal STEHEl fhar
I FAIRR RomH Bkl

B) foerm B T she snfo stfaerfad

e I GaETe SR

fruifa e el

(C) = USiame! HeMT= foehe 3uie

IRl TS WA AT Al

(D) = FfHMTET fHeRT Fidere qumamda

TR J9E A9RMEd wid

[P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

58.

59.

e

................ is characterized by strict

physical boundaries and uniform
characteristics.

(A) Formal region

(B) Functional region

(C) Peripheral region

(D) Compage region

Genres de vie means :

(A)

Cultural assimilation

(B) Roles of men and women

expected to perform in their
daily life
(C) Way of living

(D) Geographical area
is the perspective in

geography that emphasizes the
study of the individuals subjective

experiences.

(A) Positivism
(B) Humanism
(C) Feminism

(D) Postmodernism

58.

59.

GET IT ON
Google Play

APR - 36224/11—A

= afyreg mvS FRwR
YThfqer HET oMfoT UehEHE  SfyTees
B

(A) EIHH Y
(B) =MEfcH® T_EI
(C) UiET waw
(D) wfafya wew

..............

‘S T = WS

(A) TERiaE AHAT FHL

(B) Hfer Sfamm Si-geure g
ufer =

(C) U= qgd

(D) wirifers &t

7 Yania gieshd 3

HERI =T SIS STV STSATETER

T2

(A) TcHeTEs

(B) WG

(C) e

(D) FH-AY RS
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60. Arrange the following philosophers
in ascending order starting from the
oldest :

() Eratosthenes

(z1) Anaximander

(i1) Plato

(zv) Herodotus

Codes :

A @ @ Gu) Qo)
B) @ @ Gv) @D
(C) @) Gv) Gi) @)
D) Gv) @) @) @)

61. Who conducted the first linguistic

survey of India ?
(A) Berber

(B) Emeneaue

(C) Grierson

(D) Khulachandani

62. The term ‘new cultural geography’

was coined by ...........
(A) French Human Geographers
(B) American Human Geographers
(C) British Human Geographers

(D) German Human Geographers

60.

61.

62.

GET IT ON
Google Play

APR - 36224/11—A

el e = HTAEer= SR

SRR ShAar @l
@ wAfeatE

(&) TR

(@) =

(@) TS

F@R‘l’lﬁ? :
A @

@) @) ()

B) @ @O (v @)
©) @ G@v) Gi) @
D) @v) @)

o~

TR dfgel
Fad ?

(A) =R

(B) T

(C) Tt
(D) GerEgH
‘FeH wiEpfae gme’ & e A
shyeft

(A) Ha HHEET YT

@ (D)
qToTeh T 70T SHTU7

(B) FHRHT HFEl YPTeme

(C) fofewr el YreTemeR
(D) SHA Al YRISR
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63.

247

Find out the correct options from the
following pairs related to

geostrategic idea of Mackinder :

Year Concept
(a) 1904 Pivot area
(b) 1919 Strategic Heartland
(c) 1943 Midland basin

(A) (a), (b) and (c)
(B) (a) and (b) only
(C) (a) and (c) only

(D) (b) only

64. The line of actual control across

Ladakh between India and China
appears to be what type of

boundary ?
(A) Antecedent
(B) Relict
(C) Subsequent

(D) Superimposed

63.

64.

GET IT ON
Google Play

APR - 36224/11—A

Hehel A1 UG Heusil Hafed

e Sieamyd Arg TEE e

au Hehea-T

(@) 1904 TR &5
(b) 1919 M gyt

(c) 1943 Y TR

A) (a), (b) 3T (c)
B) (a) T (b) Had
(C) (a) 30 (¢) T

(D) (b) T=d

URd 37T =9 A=A ere Yod el

== I & FIvE YRl @
g femd ?

(A) e

B) afire

(C) wewdl

D) ARG
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65.

66.

Which of the following statement(s)
is/are correct regarding ‘Leben-
sraum’ ?

(1) The term was developed by
Geopolitics school

(71)) The term was used by both
Friedrich Ratzel and Darwin

(zit) The meaning of Lebensraum as
‘Living space’

Codes :

(A) only (iti) is correct

(B) only (i) and (iii) are correct

(C) only (i1) and (iii) are correct

(D) All are correct

A Supranational Organizations

are :

() It is a collection of individual
states with a common goal that
may be economic or political in
nature.

(z1) United State is perhaps the best
example of supranational
organisation.

(zit) Supranational Organisations
work for collective interest of

members
Codes :
(A) Statements (i) and (i7) are correct
(B) Statements (i) and (iiz) are
correct
(C) Statement (ii) is correct
(D) Statements (iz) and (iiz) are

correct

65.

66.

GET IT ON
Google Play

APR - 36224/11—A

‘e TTed EeTedehT Shivg faem

(F) TR MR/ ?

G) T EA g-Te foarEn faesfaa
Caail

(i) B | ®hgreh Lega i eife =
Sret ATt

(iii) Trorar=T 19 ‘weia erfyues’ T
3T

Hehdleh :

(A) e (iii) & sReX 38

(B) e (i) ST (4ii) SR 3Ted

(C) e (ii) =TT (ii7) TSR 3Ted

(D) TE & 3Ted

UTIHE Feqr=a1 9ed I faam

HIUET ?

() T TH R Tl W o7
S RS S ST d ST

fhal TSTehiE &I 3T Iehd.

(i) MR (FAHeE WH) T Felrad
GAFIHA T Tl Sael 3T

(i1i) GIFRE Y e Wheeh
feammel sl wham.

Hahdieh :

(A) faum () = @) 9=

B) faeam () 9 (i) 9=

(©) faum (i) ==

(D) faum (i) 9 (i) ar™
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67. Who is considered the originator of
dualism between Physical and
Human Geography ?

(A) Carl Ritter

(B) Oscar Peschel
(C) George Gerland
(D) Friedrich Ratzel

List of authors (List I) and the books
they work (List II) are given below.
Match the List I and List II and
select the correct answer from the
codes given below :

List I (Authors)
(@) P.R. Gould and R. White
(b) D. Leg and M.S. Samuels
(c) E. Soja
(d) R. J. Johnston

List IT (Books)

Postmodern Geographies : The
Reassertion of Space in Critical
Theory

68.

@

(z1) Geography and Geographers

(zii) Humanistic Geography
Problems and Prospects

(tv) Mental Maps
Codes :

(@) (b)
A @) @)
B @ O
(C) Gv) @)
D) Gir) @

© ()
@ii) (v)
() (@)
@ )
@) (@v)

67.

68.

GET IT ON
Google Play

APR - 36224/11—A

IO TeRfder ST AFel el ATdiel
SaaETe Uadeh el S 7

(A) e R

(B) Eht U

(C) Sifsl efs

(D) WhigHh I3

qET 1 T3 oieEshiel A RGO ATRl
IT &3 Y= 719 Seasw T 37ed. am6!

I g II IraueR e ereld feeredT

Hehaiehen! Irg v faer
Tt 1 ()
(@) TL3M. Tiegs 9 AX. WE
(b) . T T TALE. A
(¢) 3. =
(d) SIS A
It 11 (Tat=i )
() UReAted TS ¢ g RemwH
ATe TWH 37 Thloha &
(@) Toemmsr ofve fSsisd
(i) RIS AR : Wiy 3fre
EUSEEEE
(iv) Hed o
Hehdlh :
(@) (b)
A @) @)
B) G) @
(C) (v) ()
D) @) @)

(© (@)
(@) (v)
(w) @)
@ @)
@) (Gv)
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GET IT ON
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APR - 36224/11—A

69. In the course of development of | 69. 3SIfHARR favervumy faam Ul <41\‘I\Ic'1h><ill
Geography as a science of spatial forepTEET= o fasem=t 9o o gsr
analyses what become its language F T 7
and method ? A) TR
(A) Ecosystem
(B) Environment (B) e
(C) Geometry (©) W
(D) Landscape D) Y-

70. Who in his 1906 methodological | 70. &1 1906 Hed hiufl ‘sffesiieg 3f1h T
paper entitled ‘Objectives of the faerurel e #9' F yisiehT=AT
Geography of Man’ projected the FHETGIah UEERHE qERATAl A
alternative concept of Geography as FOATES ierdiel T Hehel
the study of landscapes ? waifae shedr 7
(A) George Gerland (A) SIS TEs
(B) Otto Schulter (B) el e
(C) Friedrich Ratzel (C) Whigsh Teg
(D) Ferdinand Von Richthofen (D) wEHrE a1 Ry

71. Which of the following statements | 71. ®eieidsl Hivd Tasemd & Iwi-
about postmodernism 1is not \ﬂTQF-IchdIOIIqI@Iqu E a2
correct ? ) ) N
(A) The postmodern methodology is (A) ST-TYH TEAT AT A T

based essentially on the e ARG 2ATed

strategy of deconstruction (B) TR R & e SRS
(B) Postmodern thought provides a P N

theoretical context for the study SHafe fafaeqen sy T

of stratial/areal diversity in the dgifaer Ted wem

life world (C) 20=1 vIehr=a Ufgedm Fgem,
(C) The intellectual movement of - a .

postmodernism flourished in the ST TSR o] RUESZ

first quarter of the twentieth Foselad e HTHE el

century (D) ITR-aefTsaErT & TR
(D) Postmodernism is rega?det.i as e T o

the culture of late capitalism
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72.

73.

e

Which philosophy is based on a set
of principles and procedures
originally derived from Linguistics
and Linguistic philosophy ?

(A) Structuralism

(B) Feminism

(C) Behaviouralism

(D) Humanism

Assertion (A) : Ratzel provided the
scientific basis to study Human
Geography through his two volumes
of the book Anthropogeography.

Reason (R) : Positivism was the
approach wused in the book

‘Anthropogeography’.
Which one

is correct ?

of the following

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is false and (R) is true

(D) (A) is true and (R) is false

72.

73.

GET IT ON
Google Play

APR - 36224/11—A

SRIUR el Hoid : HTHTforR SAIfo7 “fiftres
TG T et T ST gfshar=n
HeareR e ee ?

(A) TEHAER

(B) &R

(C) =R

(D) AFEdER

e (A) : {2Sier Aal i 1y
S o1 e B I ITS S 01 e R |

TIr=] S WegR a3 3TN USH
Sl

HIOT (R) : THSTEE B STTasieiars!

I VAR ATRE eial gieeeh il

ETeATeTUehl ShI0d e 38 7
(A) Tt (A) affor (R) seR 3TRd o
(R) € (A) 3 3T TR 3T

(B) TEI (A) 7T (R) SREX 3TRd W
(R) ® (A) ¥ T TI=IHI &

(C) (A) T H 378 907 (R) & SR M8

(D) (A) T s 378 997 (R) § I T8
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74. Structuralism in Geography focuses
on the analysis of .........

(A) Individual behaviours and
perceptions

(B) Grand narratives and
metanarratives

(®)

Social structures and power
relations
(D)
75. Match the name of the Geographers
(List I) with the terms (List II)
selecting the correct answer from the
given codes :

List 1

Multiple perspectives

(@) Plato
(b) Hipparcus
(¢) Hettner
(d) Kropotkin
List II
(1) Map projections
(z1) Deductive approach
(z11) Mutual aid

(zv) Chorology
Codes :

(@ b)) @ (@
A @ @) @) Go)
B) @) @ Gv) @)
(C) G) @) @ (@Gv)
D) Gv) @  Gu) @)

GET IT ON
Google Play

APR - 36224/11—A

SO WX 2Tehdl.
(A) SFfoaes o SAfoT &

(B) Jecshed § ®UFHYA

4
3

(C) TIfSier Ol o TmEeY

(D) wggiteshH

75. ARH I AL ypieaarEt @ g gm0

TE O foen sted A= I Siret Sjesad
fedear wafardie  Fita gty
IREEIE:
rer 1
(@) @RI
) fewrma
(€ BT
(d) e
et 11
@) TR HET0

~

(i) TR gftes

(iii) IREATR Hed
(iv) DS ()
Hahdich :

@ ®) @© @
A @ @G G @o)
B) @ @O @) G
C) Gi) G) @ (@)
D) @) @) @) G@)
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76. Match the List I (Area of Study)
with List II (Focus of the Study) by
selecting the correct answer from the

codes given below :

(@)

®)
(c)
(d)

(1)

)

3)

4)

List I
(Area of Study)

Man-Environmental relation-
ship

Spatial analysis
Earth Science
Area Studies
List II
(Focus of the Study)

Study of natural and Geological
processes

Understanding human impacts
on the environment

methods
analyze spatial patterns

Quantitative to

In-depth examination of specific
regions

Codes :

A 3
B) 2
©
D) (2)

(@) ()
2)
(1)
(4)

3)

(c)
(1)
(4)
3)
(1)

(d)
4)
3)
(2)
4)

GET IT ON
Google Play

APR - 36224/11—A

76. A=l 1 9L A &5 9 Il [ 98

HAH 8 et TR, I Sl ool

g W e .

(@)
®)
(c)
(d)

(1)

(2)
3)

4)

rer 1
(T &)

AHAE-qAE0 oY
sifate foeerom
e
g sy

aret 11

(FMITET T8H)

yrRfae enfor sqEmeE gfwarn
HAEH

A eRUTTER el el HTel FHsA =0l

Atz sTHfaaare Teaeds
forgerem o

TafTSe 9e9e WEe YLETI vl

0 -
*
-

A 3
B) 2
©
D) (@)

(@) ()
(2)
(D

(4)

()
(1)
(4)
(3)

(d)
4)
3)
(2)
3)

1) @)
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GET IT ON
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APR - 36224/11—A

77. If the distance between two points | 77. R SJfE=ade e raic&mﬂa T 25 T,
on the ground is 25 km and the A AT THRIeRI <= & fagHed
distance between the same two STt 10 T ST, T >
points on a map is 10 cm, then the

(STUE. ) FoTQ AT e
Representative Fraction (RF) scale

I
of the map is ..........

(A) 1 : 2500
(A) 1 : 2500

B) 1 : 25000
(B) 1 : 25000

C) 1 : 250000
(C) 1 : 250000 L)
(D) 1 : 2500000 9 1 : 2500000

8. i, is not an example of | 78. T T WiiEsE g /e
statistical surface. L.

(A) Rainfall distribution map (A) TS foaeor =eRTem
(B) Elevation map (B) FHSHURIURT=N 3= 53 Tehren
(C) Tourism map (C) THed T
(D) Soil productivity map (D) a1 3cqIqehdl iR
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79. Match the List I and List II and

select the correct answer from the
codes given below :

List I (Projection)
(@) Bonne’s
®)
(c)

(d)

Mercator

Polyconic

Mollweide

List II (Area coverage/purpose)
(1)
(2)
3)
4)

Small longitudinal extent
Navigational charts
Mid latitudes

Distribution map across the
globe

Codes :

(@)
A @
B) 3)
< 3 @O 2 @
O 2 & @O @

Fragmented lines drawn in relief

®)
3)
(2)

(c)
(1)
(1)

(d)
(2)
(4)

80.
maps are known as :

(A) Contours
(B) Rhumb lines
(C) Form lines
(D) Graticules

79.

80.

GET IT ON
Google Play

APR - 36224/11—A

T 19 =] 11 A= Siieal SJeiad @eta
Hehdlehiqd arg e e

e 1 (weoum)
(@ @9
(b) HEHT
(OIRISIEIRIED
(d) Hies
arat I (85 Samwit/3e90)
(1) oY T fomR
(2) rfereh e
(3) Hem e
(4) wqol S fomeor SR
Hehdich :
(@)
(A) (4
(B) )
© 3 O @ @
O 2 & @O @

3S@ TR HEeedl Bieq T8
............ T

(A) T o

(B) T I

(C) &A=r @

(D) @S

®)
3)
(2)

(c)
(1)
(1)

(d)
(2)
(4)
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81. The variability of rainfall is best | 81. Ysl=iiel foreRURieal TICeTYeh] hIow
represented by which of the T SEFETRR SR JgA 7
following technique ?

8 1 (A) FUE( fo=rer
(A) Mean deviation
(B) wHIUd fer=re™
(B) Standard deviation
o= T[ueR
(C) Coefficient of variation ©
(D) Interquartile range (D) Q?jEF =
82. How stratified sampling is carried | 82. WA WiT=a" HAYHR shed Sd 2
? ~ ¥ ~ Y
out (A) THT TRECIHYT TG =Sh Y]
(A) Sample is made up of elements N . .
. MAascedl scehldl o-ciel] HMdl
which are randomly selected
from the population (B) WhdEI THEY TIHed fadreH
(B) Dividing the population into FHed THAT FHFYY U] A e aul
homogeneous groups and select 2 N
equally but randomly
(C) Population divided into random (C) TIFHEA G fesh Teme faurrel
groups and select equally from STd ST Jedeh TR 99 it
each group (N
(D) Assigning numbers to the _ L
population and selecting (D) FHEA HeAT T 0l &l
randomly the numbers g fesshaul e fraes

83. ‘Chi-square Test’ is used to | 83. ‘S I I =T IWEE |
measure : HISTHTT LIS hell Sl
(A) Mean deviation (A) U fa=e
(B) Goodness of fit (B) S[evuit=l e
(C) Trend (C) =d
(D) Variation (D) fo=rm
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85.

e

Which of the following formula is
used to calculate the drainage

density of a region or basin ?

(A) Total number of streams/total
area in square km

(B) Basin area/basin length square

(C) Total length of streams in km/

total area in square km

(D) Area of the basin/area of the
circle with same perimeter as

the basin

profiles present a vivid
picture of the magnitude of relief
and general nature of dissection of

the region or watershed.
(A) Cross

(B) Superimposed

(C) Projected

(D) Composite

GET IT ON
Google Play

APR - 36224/11—A

84. Yyl ol FSI=a1 WA ST ST

85.

TS0 Wetetieh! hIv T3 ATl
S ?

(A) THU YA GEA/THRY %D

EECRET

(B) -TI=N WA &5/A5=A QAT
e =R

(C) o=l THO aislt fRH]

&3 9T e 7y

HEH /TR

(D) TEr=a @R &E/AET WA

IRIT TH STEeied aqere aha

I SSET=AT He™

e T <vifada g wewr ferar e

&= Ta=se T W= T Seifadra.
(A) 1

B) sreAIft/ AT

(C) wafha

D) fax:
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86. Match List I with List IT and select | 86. =1 & =l =l I1 a1 Sfie=ll Jesel
the correct option from the codes Tl Hebdiehlqd arg 9ag MaeT ¢
given below :. a1

. List 1 . (Q-Iﬁ'a-{ m
(Geostationary Satellite) (@ 3z
(Z> ggii; ®) AT
®) GMS () ST.TA.TE.
© @ e
(d) METE(I)fAtTH .
(C tlS/A ) AR (e
ountry/Agency | D) g
(1) European Space Union
(2) USA @) FTEG
, (3) 3mEm
(3) Russia
(4) Japan (4)i ST
Codes 3 @ B © @
@ o) o) () Bo o o o
A 2 @ 3 @ B 1) @) @ @
B 1O B @ @ © @ @ @ @
© @ @ @ O = RE N,
D@ B O @ w19 N

87. Arrange the regions of | 87 FerE[Areeren T Ui FaRIrei weel FAm
electromagnetic spectrum in TS FETO AU A
ascending order as per wave- (1) aAfafies T
lengths :

(1) Ultraviolet (2) H&m Tl
(2) Microwaves (3) &-fertm
(3) X-rays (4) TEYF ol 9 fean o=l
(4) Television and Radio

A) @), (3), (2), (1)
(A) (4), (3), (2), (1)
< 3), (1), (2), 4 € ), (1), (2), 4)
D) (2), 3), (1), (4) D) (2), 3), (1), (4)
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88.

89.

90.

247

Which of the following statements
about scanners is not correct ?

(A) In pushbroom instrument the
scanlines are parallel to
flightline

(B) In whiskbroom instrument the
scanlines are perpendicular to
flight line

(C) The whiskbroom instrument use
single detector for each band
which collects energy through
rotating mirror

(D) In pushbroom instrument the
sensor is composed of thousands
of tiny CCD

Which of the following minerals is
found in the monazite sands of
Kerala ?

(A) Mica

(B) Uranium
(C) Kyanite
(D) Thorium

Tropic of Cancer passes through

which set of Indian states ?

(A) Gujarat, Rajasthan, Bihar,
Mizoram

(B) Madhya Pradesh, Uttar
Pradesh, Jharkhand, West
Bengal

(C) Bihar, West Bengal, Tripura,
Mizoram

(D) Madhya Pradesh, West Bengal,
Tripura, Mizoram

88.

89.

90.

GET IT ON
Google Play

APR - 36224/11—A

Gy HI0d Tk faum eTecishs
(@hR) &ed Fhia A8 ?

(A) GUGH SUHLUMT TAcIheh T
STV T FHR STHA

(B) fEEhgd IUHUMT 3TEciihas L0
STV I SA9ed ST

(C) TogehgH SUHILUMG Ucds &l
YITATHTS] TA:=AT AT
fRTO=a SAReT= U™ HoghM
9Tl Hehfeld shell SITd

(D) TUEH STHIUIT Holgeh ToMl S 4.
Tl 7 e STEa

e TeTUehT R0 @ Shiee=al HIFTRE

ez ATEeedld ?

(A) Y=

(B) FI=H
(C) wHEEE
D) gifEm

AR I ToATGT hehgd Sd 2
(A) ToE, TS, foER, fHeid
(B) UHAYRYI, STUSY, IRES, =M

9T

(C) forer, ufy=m =me, gy, fasim

(D) AeguRy, ufy=w sure, fagy,

[REING
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91.

92.

e

Given below are the two statements,
one labelled as Assertion (A) and
other labelled as Reason (R). Select
your answer from the codes given

below :

Assertion (A) : Laterites are less

fertile soils.

Reason (R) : High rainfall leads to

leaching of minerals.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(®)
(D)

(A) is true but (R) is false

(A) is false but (R) is true
Which of the following objectives is

not true for ‘Namami Gange

Programme’ ?
(A)
B)

Development of ‘Ganga Grams’

Development of navigable water

ways for mechanical boats

GET IT ON
Google Play

APR - 36224/11—A

91. @eil §F e Toefl ARd. i Teh

92.

faum (A) oT% @ T FRT (R) e
Trell faeie Hehdien T (A) FAH
™ e

faem A) : Sivfiger s Yot s
T e

HROT (R) : Afq S=He @ e
e @i

Hehdieh

(A) TR (A) 9 (R) o7 919 (R) @

(A) T I TR B

(B) Tl (A) @ (R) 3T Ted g (R)
T (A) 3 TF TALRI AR TR

(C) (A) 3/ 3Me T (R) & I MR

(D) (A) I M8 g (R) & MH R
‘oI T R HEH @eere!
H Sfee '\ AR ?
(A) ‘T mEr foss

B) aAfIFRIATTRT FTEIHT A1

SREEIREEIRS)

(C) Development of River fronts
(D) Monitoring of industrial (C) Eﬁﬂ'l”'l’l%ﬂ fererra
effluents (D) eFENfier AreTTaT IERE
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93. With reference to India, the names
of Didwana, Degana, Sargol and
Khatu are associated with which of

the following option ?
(A) Glaciers

(B) Ramsar sites

(C) Mangrove areas
(D) Saline lakes

94. Which one of the following has ‘Cwg’

type of climate ?
(A) Deccan peninsula
(B) Western coastal region
(C) Leh and Ladakh
(D) Ganga plain
95.

is one of the best examples

of radial drainage pattern.

(A) Drainage on Girnar Hills

(Gujarat)

(B) Shyamak hill drainage
(Rajasthan)

(C) Pachmarhi hill drainage

(Madhya Pradesh)

(D) Bhima River (Maharashtra)

93.

94.

95.

GET IT ON
Google Play

APR - 36224/11—A

ORare Heuld fegar, S, wue

i @ & e e v
T frTfed smed ?

(A) femed

(B) THE TS

(C) TREHE &

(D) TRE HUEX

T FHIVET TR ‘Cwg’ FhRH
TIHM AR ?

(A) TEETI Y8R

(B) Ufy=m fFARUE™ Wed

(C) ©ig oMol wTere

(D) T HEH

ooooooooooooo

(A) TR weq =&t gomett (TeH)

B) YIME Yod &I FUME (TSTEIE)

(C) J=Yer Udd A& WSl (WEI9ee)

(D) fom < womelt (FERTS)
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96. Match the List I with List II and

select the correct answer from the

following :

List I

(Local names of the plain)

(@)
(b)
(c)
(d)

(1)
(2)

3)
4)

Bhabar
Khadar
Bhur
Kallar
List II
(Characteristics)
Composed of newer alluvium

Consisting of gravel and

unassorted sediments
Barren saline efflorescences soil

An elevated piece of land
situated along the banks of the
Ganga

Codes :

(A)
(B)
(®)
(D)

(a)
(1)
(4)
(2)
2)

)
(4)
(2)
3)
(1)

(c)
3)
(3)
(4)
(4)

(d)
(2)
(1)
(1)
3)
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96. A=l F AR 11 A= Sied e @i

Hehdrehlqd ard 9arg faer .

BICA |

CEHEIC IR IEEN )

(@)
®)

() ¢

(d) Hedlk

GIEE

Elley

It 11

(afere=)

(1
(2)

3

faY fay
REIRERIFAEIRESSEL

e 9 AYHIUE STIHErl GAEY]
T

e @RS UEHET Tal

(4) T TS AIER STHAAT S
T&H 39 9N

. -
-
+

(@)
A @
(B) 4)
©) @)
D) (2)

)
(4)
(2)
3)
(1)

(© (@)
3)

3)

(2)
(1)
(4)
4)

(1)
3)
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Which of the following statements
is not correct with respect to
roadways ?
(A) National
constructed and maintained by
National Highway Corporation
of India

State highways are constructed
and maintained by Border

highways are

B)

Roads Organisation
District roads are developed and
maintained by Zilla Parishads

()

(D) Village roads are mainly the
responsibility of Village
Panchayats

Match List I (Waterways) and List
IT (Stretch) and select the correct
answer from the codes given
below :
List I
National Waterway 1
National Waterway 2
National Waterway 3
National Waterway 4
List 1I

Sadiya-Dhubri stretch
Allahabad-Haldiya stretch
(3) Kakinada-Puducherry stretch
(4) Kottapuram-Kollam stretch
Codes :

(@)
(A) (2)
B) 1)
© @
D) 1)

(@)
)
(0)
(d)

(1
2)

(c)
(4)
(4)
(1)
3)

(d)
3)
3)
(2)
(4)

®)
(1)
(2)
3)
(2)
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Tt ok faem ¥ TEmTered

Mg g ?

(A) ST FEMAT § AR TS e
TEHEa diushed diFd 9 SEd
ETGESIGIG]

(B) U9 HEMAT= sievlt § S@re &
i THR FEEIREd shel ST

(C) Tooar Tar=n fasm™ amfon <@y

feemitoeaT a8

(D) & A SEEeR § qEad:

Y= =T 378

el 1 9 A 11 A= Siea SJesad @eite

Hehdlehlqd ard 99 faer

et 1
T e 1
(b) T SeHR 2
(c) U™ Somr 3
(d) U™ SaAr 4

Tmet 11
wicar @ ga fasr
FFeTeree d geara fod
(3) wRMEl d gl fawr
(4) HILYH d hieaH Tl
Hehdich :

()

A) (2
B) M)
C) @
D) @)

(@)

(1)
2)

®)
(1)
(2)
3)
(2)

(c)
(4)
(4)
(1)
3)

(d)
3)
3)
(2)
4)
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99. Which of the following tribes is not

belongs to Proto-Australloids race ?
(A) Irulas tribe

(B) Veddahs tribe

(C) Kharwars tribe

(D) Murmis tribe

100. Arrange the following North-
Eastern states by their Literacy rate

(percent) in decending order as per

the census 2011 :
(@) Meghalaya
(b) Nagaland

() Assam

(d) Mizoram
Codes :

A) @), ), @), ()
B) (o), (b), (d), (@)
©) (©), @, ®), @

D) (@), ®), (o), (@)

99.

100.
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TEAAAHRT HIUGT ATTGATHT AT
RI-SAridrae diften e ?

(A) TTCT SHI

(B) @1 SHIE

(C) BRaR SHId

(D) THE S

2011 =1 STRTUHTER Wil seeheld

T TS SUTIR el S S ot

ELU

(@ WM

(b) TS

(c) TG

(d) foeimm
W :

A) @), ®), (@), @
B) (c), (®), (d), (@)
©) (), @), (), (@

D) (@), ), (o), (a)
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